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2A:

X XH -
o=

200! 0t
el =X s8

oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 4,726,882 4,657,944 68,938
SSEe o= 4,726,882
= 3,307,074
< 425,942
Al 993,866
FU=01x) = 788,909 751,342 37,567
= 552,236
< 165,671
Al 71,002
301 2eEN= 788,909 751,342 37,567
= 562,236
=S 165,671
Al 71,002
01 Al EE AL S(FREXMH) 788,909 751,342 37,567
o= XE(OI=X) 788,909
= 562,236
= 165,671
Al 71,002
Z=E(Xa? 8) K= 365,576 348,167 17,409
= 255,903
= 76,771
Al 32,902
301 EtE NS 365,576 348,167 17,409
= 255,903
= 76,771
Al 32,902
01 Al EE A ZS(2DEXMR) 365,576 348,167 17,409
Foi+g (9 S)XS 365,576
= 255,903
< 76,771
Al 32,902
ZOHQl MEOtIAI(=E) 424,921 404,685 20,236
= 127,476
Al 297,445
201 er=23y| 7,770 7,400 370
=S 2,331
Al 5,439
01 AtR2t2|HI 7,770 7,400 370
Fojel A27= XA 7,770
< 2,331
Al 5,439
301 EtE NS 417,151 397,285 19,866
= 125,145




2A:

200! 0t

. ZOje =X S8
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 292,006
02 A EEHS(FIANE, XLTHE) 417,151 397,285 19,866
=& =IOt 136,757
s 41,027
Al 95,730
PRI 161,154
& 48,346
Al 112,808
ZHMAFZ0He =8l X2 41,246
= 12,374
Al 28,872
SSYMe+ Z=Hl X 77,994
< 23,398
Al 54,596
ZOHQ! HEOHAIH(2R) 20,418 20,418 0
= 6,125
Al 14,293
301 EtE N = 14,610 14,610 0
= 4,383
Al 10,227
02 A EEHS(FIANE, XLTHE) 14,610 14,610 0
QISEHOl Mz XA 8,000
s 2,400
Al 5,600
FFRFI0 2JZHl X2 1,610
& 483
Al 1,127
ODIFEE0e ABHN K& 5,000
= 1,500
Al 3,500
307 21201 & 5,808 5,808 0
< 1,742
Al 4,066
11 AMEISXAEEES 5,808 5,808 0
ojel Adns =29 5,808
& 1,742
Al 4,066
o ei=Hl X 97,802 97,802 0
= 78,242
& 13,692
Al 5,868
308 XXM SO0l 97,802 97,802 0
= 78,242




2A:

X XH -
o=

200! 0t
el =X s8

oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 13,692
Al 5,868

18 SIS0t & A AS A 97,802 97,802 0
ZoHel 2=l K& 97,802
= 78,242
< 13,692
Al 5,868

MASHOHR! &EHl & A X 3,092 2,472 620
= 1,546
Al 1,546

301 EtE N = 3,092 2,472 620
= 1,546
Al 1,546

01 Al EE A S (2 RNEXMA) 3,092 2,472 620
NSO Ml 2 ZAEl XA 3,092
= 1,546
Al 1,546

Z0e 2RI+ WF 3,200 7,735 A4,535
= 2,560
=S 192
Al 448

307 21201 & 3,200 7,735 N4,535
= 2,560
= 192
Al 448

012z & a=Hl 3,200 7,735 A4,535
ZoHe! ME2xI|7 X 3,200
= 2,560
= 192
Al 448

Zoie!l 23+ =2l X2 11,163 11,304 A141
=S 3,349
Al 7,814

307 21201 & 11,163 11,304 A4
< 3,349
Al 7,814

0122 & 3=l 11,163 11,304 A4
FoHA2E T =clXE 11,163
= 3,349
Al 7,814

ZoHe! dXiel XA (HLH) 975,79 893,863 81,936
= 487,900
& 146,369




2A:
X XH -
o e

=aak

200! 0t
el =X s8
Foe=X s

SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 341,530

101 @1A4H| 972,79 890,863 81,936
= 486,400
= 145,919
Al 340,480

MU IIRIMZZENSES 972,79 890,863 81,936
2etE UXtel QIAH| 972,79
= 486,400
& 145,919
Al 340,480

201 Let=23 | 3,000 3,000 0
= 1,500
< 450
Al 1,050

01 At2t2ltl 3,000 3,000 0
aete UXtel 22| 3,000
= 1,500
S 450
Al 1,050

ZOHQ! LXtel X1 (AIZHA) 262,619 245,150 17,469
= 133,057
== 36,422
Al 93,140

101 e124d| 259,619 242,150 17,469
= 131,557
=S 35,972
Al 92,090

04 JIZtN2Z2XNS 2= 259,619 242,150 17,469
AR ZXtel Q24| 259,619
= 131,557
= 35,972
Al 92,090

201 fer=3| 3,000 3,000 0
= 1,500
= 450
Al 1,050

01 AtR2t2|HI 3,000 3,000 0
AZEHl € Xtel 2SI 3,000
= 1,500
= 450
Al 1,050

ZoHe! dxiel XIA(EHE) 276,45 269,957 6,49
= 138,228




2A:
PSER
o e

el

jo:‘
PNy
=}
PNy
=}

S EOHI 1
el =X &
HeI=A S

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

41,468
96,760

101 e124d|

Mo

=

273,4%
136,728
41,018
95,710

266,957

6,499

Mo

=

273,45
273,45
136,728
41,018
95,710

266,957

6,499

Mo

=

3,000
1,500

450
1,050

3,000

Mo

3,000
3,000
1,500

450
1,050

3,000

PNy

OHel 2Xtel X (=)

33,000

32,000

1,000

101 e124d|

33,000

32,000

1,000

04 JIZtN2Z2 X SE+
ZOHQILRICIALY B0 A BE S (XHH)

33,000
33,000

32,000

1,000

PN3
=]

F
ofel EsXE=0 K&

Mo

=

7,543,500
5,280,450

678,915
1,584,135

5,517,854

2,025,646

308 AHXIHMSO0IA

Mo

=

7,543,500
5,280,450

678,915
1,584,135

5,517,854

2,025,646

hoH

=

7,543,500
7,543,500
5,280,450

678,915
1,584,135

5,517,854

2,025,646

hoH

107,406
75,184
9,667
22,555

44,453

62,953

0

308 AtxIE

>

JIS0IH

[

H

107,406
75,184

44,453

62,953




2A:

200! 0t

2 Zoiel =X S
Rl ZoHeI=X S (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 9,667
Al 22,555
13 SI |2 SUICHEHZ A E L EFALH] 107,406 44,453 62,953
258X Otz 0 107,406
= 75,184
= 9,667
Al 22,555
SEEC 252X & =IF XA 972,690 754,500 218,190
& 291,807
Al 680,883
308 AHXIHMSOIH 972,690 754,500 218,190
& 291,807
Al 680,883
13 I 2SHICHEHE & =AM 972,690 754,500 218,190
SSHR 852X & FIHAA 972,690
T 291,807
Al 680,883
LHEME MBlA BIR™H X 454,692 400,800 53,892
= 318,285
T 40,922
Al 95,485
308 AXISHMSOIA 454,692 400,800 53,892
= 318,285
& 40,922
Al 95,485
13 I 2SHICHeHE & X2 EALZHI 454,692 400,800 53,892
Z0H0ls MEX= 454,692
= 318,285
& 40,922
Al 95,485
HEEHC REAEXA 11,518 11,518 0
= 8,062
& 1,037
Al 2,419
308 AXISHMSOIN 11,518 11,518 0
= 8,062
= 1,037
Al 2,419
13 SI |2 SUHIHEH B A E L EFALAH] 11,518 11,518 0
fIelaE X 11,518
= 8,062
= 1,037
Al 2,419




2A:

200! 0t

2 Zoiel =X S
Rl ZoHeI=X S (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
HHLEXR HI2H™HXA 2,3% 2,3% 0
= 1,677
T 216
Al 502
308 AEXIHM SOl & 2,3% 2,3% 0
= 1,677
T 216
Al 502
13 3I| 2 SHICHeHE & &2 ALY 2,3% 2,3% 0
AEZ HOIREE X ALY XA 2,395
= 1,677
& 216
Al 502
TR F2tESMHIA KR 1,602,702 983,681 619,021
= 1,121,892
& 144,243
Al 336,567
308 AXIHMSOI & 1,602,702 983,681 619,021
= 1,121,892
& 144,243
Al 336,567
13 BII2SUICHEHE A XL E ALY 1,602,702 983,681 619,021
LBETe F2HEsAlA XA 1,602,702
= 1,121,892
= 144,243
Al 336,567
LETONC F2HESMUIA S AMY 163,533 91,734 71,79
& 49,060
Al 114,473
301 LB F 163,533 91,74 71,79
T 49,060
Al 114,473
02 ASIBEEHS(HLHS, NYME) 163,533 91,734 71,79
LHEHOOl FAHESAEIA SOt XI2AAS 163,533
= 49,060
Al 114,473
SEIOHC YU SSMHIA X2 116,379 251,619 A135,240
= 81,465
T 10,474
Al 24,440
308 AHXIHMSOIH 116,379 251,619 A135,240
= 81,465
T 10,474




2A:

200! 0t

= Zojel =X s
oels ZoieI=EX Sd (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 24,440
183 SIS0t 4 EAS AL S| 116,379 251,619 A135,240
2L BT SSAHIA X2 116,379
= 81,465
= 10,474
Al 24,440
ZES LEZe N2 308,526 0 308,526
= 170,204
= 41,496
Al 96,826
307 212t01™ 228,823 0 228,823
= 114,412
< 34,323
Al 80,088
05 2ItRIE = 228,823 0 228,823
ZES €2YMHA F=2F HE LU &S
A& 228,823
= 114,412
< 34,323
Al 80,088
308 AtXIEMSOIH 79,703 0 79,703
= 55,792
[ 7,173
Al 16,738
18 SISOt EAS A 79,703 0 79,703
ZES €2YMHA F2F HE LU &S
A& 79,703
= 55,792
& 7,173
Al 16,738
HEZ0H SAtHIEXIE 2,400 3,000 2600
= 1,680
< 216
Al 504
301 2eEN= 2,400 3,000 A600
= 1,680
S 216
Al 504
01 Al EE AL S(FREXM) 2,400 3,000 2600
HdFoiel SaXd=s X2 2,400
= 1,680
= 216
Al 504




od
i’
oF
uJ

-

KIO

Hlw

5,400

5,400

5,400

20,700

20,700

20,700

1,373,935

387,995

387,99

387,995

HMEE
Ofl &k2h

13,660
13,660
6,800

6,860

9,900

9,900

9,900

13,674,001

9,324,161

9,324,161

9,324,161

Ofl &F2H

13,660
13,660
6,800
6,000
800
6,860
5,960

900
15,300
4,590
10,710
15,300
4,590
10,710
15,300
15,300
4,590
10,710
20,700

H

Al

W

Al

iy

Al

6,210
14,490
20,700

H

Al

6,210
14,490
20,700
20,700

H

Al

6,210
14,490

15,047,936

W

Al

i

7,017,400

Iy

1,749,957
6,280,579
9,712,156
6,798,509

Al

H

874,004
2,039,553
9,712,156
6,798,509

Al

fir

H

874,094
2,039,553
9,712,156
9,712,156

- HyS

- SRA(3) - HIRAEY

S - B

=]
=

2|

e

01 AtR2telbl

OHRI=XI X

t

80
0H
Mo
Mo

2t

A
=

4 A

=

215
et d X2

A

=
=

et d X

FOH Q!

X
[=]

KIo

=
=)

30
U
[H0
M0

]

60

307 212+01™

30
01

5




2A:

E M

X=]

A2 00l It
ool =X S&

: XFOHO|EX|/\|/\ _E_

SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 6,798,509
=S 874,094
Al 2,039,553
ZOHAHF=AIESAR XM IHEHI 379,327 379,320 7
< 75,860
Al 303,467
307 lztol & 379,327 379,320 7
= 75,860
Al 303,467
10 Al SXAAEEHE 22X 379,327 379,320 7
SO H=FAIE SAHL XM<IHAHI 379,327
= 75,860
Al 303,467
ZOHRIHFAIE SAA SSEHUEST =& 117,123 86,410 30,713
== 35,137
Al 81,986
307 212+01& 117,123 86,410 30,713
< 35,137
Al 81,986
10 Al SXAIEEHE2EHI2x 117,123 86,410 30,713
ZHUAHFAIE SSHUY ESSAMA =& 117,123
= 35,137
Al 81,986
ZOHRIHFAIEBALL QA REZ(HE2Z24E 198,051 248,104 50,063
=S 59,415
Al 138,636
307 @I2t01 & 198,051 248,104 /50,053
< 59,415
Al 138,636
DN NEEEEETEES 198,051 248,104 50,053
TONQIHFAIL EAX Q20| PE2(IE
224¢) 198,051
= 59,415
Al 138,636
OHHFAIE JISEH 305,048 69,454 235,594
= 152,524
= 106,767
Al 45,757
402 QI2F X201 & 305,048 69,454 235,594
= 152,524
< 106,767
Al 45,757
02 QI X2 AL EE(OIHTHE) 305,048 69,454 235,594




2A:

A2EHOH QI

I-I;_(H: XI»OHO| EX' 5
Sl HUA=SIAE 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEdAH dg)| WA SA 305,048
= 152,524
== 106,767
Al 45,757
ZOHRIAFAIE SOIFED| dE X2 1,100 1,100 0
= 660
== 220
Al 220
307 212+01& 1,100 1,100 0
= 660
= 220
Al 220
11 AMISXAIEEX 1,100 1,100 0
ZHIHFAIE SIIEZI| e X& 1,100
= 660
= 220
Al 220
JOHAXSIHEAE 2S 1,252,360 1,247,325 5,035
== 187,854
Al 1,064,506
307 212+01& 1,252,360 1,247,325 5,035
< 187,854
Al 1,064,506
10 Al SXAEEHE2EHI 22X 1,252,360 1,247,325 5,035
ZOHQ AL THEAIE SALL 2124H] & 2EH| 1,252,360
= 187,854
Al 1,064,506
O A HTHEAIE MR 34,970 32,160 2,810
=S 6,994
Al 27,976
307 21201 & 34,970 32,160 2,810
< 6,994
Al 27,976
10 Al2ISTIAIEEE2HIEX 34,970 32,160 2,810
ZOHI X AMNEAIE SALL X 2IH&H| 34,970
& 6,994
Al 27,976
ZIOHRIA S THE AL BAL SEHMUESE 8,640 8,640 0
= 2,592
Al 6,048
307 @20l & 8,640 8,640 0
s 2,592
Al 6,048




2A:

E M

X=]

: XFOHO|EX|/\|/\ _C,>_

A2 00l It
ool =X S&

[

SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 AlRISXIAIEEE 22X 8,640 8,640 0
Zojel NATEAIL SAT SSZ04e!
23k =& 8,640
= 2,592
Al 6,048
ZOHAXSIHEAIE SAHL FAZAHI 15,120 10,800 4,320
== 4,536
Al 10,584
307 212+01& 15,120 10,800 4,320
< 4,536
Al 10,584
10 Al SXAEEHE2EHI 22X 15,120 10,800 4,320
ZOHAMBEAIE SAL SHSAHI 15,120
= 4,536
Al 10,584
ZONU=KIAIE SAL 1AW= 3,000 3,000
201 Zet=3h] 3,000 3,000
01 AF22t2ltl 3,000 3,000
SO ANFAIE I WF ZAHI 3,000
OIS XIAIE SAHA A 182,280 134,400 47,880
< 54,684
Al 127,596
307 lztol & 182,280 134,400 47,880
= 54,684
Al 127,596
10 AlIS A8 E 22X 182,280 134,400 47,880
O HTFAIE SAL HSAHI 176,280
= 52,884
Al 123,3%
ZOHQIOISAIE SALAH FHZAHI (=01
ME0|S) 6,000
[ 1,800
Al 4,200
ZOHI=SXAIE JIsE2H 36,000 0 36,000
402 2I2F X201 & 36,000 36,000
01 QI X2 AL E A (KEHITHR) 36,000 36,000
JdaMs2 dg)| £X 36,000
ZOHRISXIAIE JIsSEBL(EX) 400,000 55,000 345,000
=S 200,000
Al 200,000
402 2I2F X201 & 400,000 55,000 345,000
< 200,000
Al 200,000




2A:

E M

A2 00l It
ool =X S&

SR HOHOIEXIAIE &H (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QI X2 AL EE(OIETHE) 400,000 55,000 345,000
olopiore Z20d8A &= 400,000
= 200,000
Al 200,000
ZO0IZBAIE 2 853,442 736,048 117,3%4
307 212+01™ 853,442 736,048 117,3%4
10 AlRISXAZEE 22X 853,442 736,048 117,3%4
SSTNANS AR ZHE 22 113,399
-2l 21,623
-l 21| 91,776
FOSHUH 29 231,093
-=2&H| 32,056
ekl 199,037
HEOISKN2HH 2E 363,136
-2&H| 34,438
e kals] 328,698
HOSZDI=X3ME 23 145,814
-2l 17,210
-l 24| 128,604
ZOHRIOIZAIE SALAH MM 19,440 18,720 720
= 3,888
Al 16,552
307 gl2tol & 19,440 18,720 720
=S 3,888
Al 15,552
10 Al SXAEEE 22X 19,440 18,720 720
ZOHQIOISAIE SAA ML (50, &
oIS, BaASH) 19,440
< 3,888
Al 15,552
el SSdEIHE =29 77,500 64,454 13,046
307 el2tol & 77,500 64,454 13,046
10 Al SXAAEEHE 22X 77,500 64,454 13,046
FofelssHEIE 29 77,500
Zoje! =22 XA 201,061 201,061 0
== 40,212
Al 160,849
307 212+01& 201,061 201,061 0
< 40,212
Al 160,849
11 AMEISXAEEES 201,061 201,061 0
Fojel =2 Es X3 201,061




2A:

200! 0t

. ZOje =X S8
el U= XIAE =29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 40,212
Al 160,849
SSTMHA NS LEHH X2 164,266 160,830 3,436
= 65,707
< 29,567
Al 68,992
307 lztol & 164,266 160,830 3,436
= 65,707
== 29,567
Al 68,992
10 Al2ISTIAIEEE2HIE X 164,266 160,830 3,436
SSYMHANSHE X2 HE X 164,266
= 65,707
=S 29,567
Al 68,992
Zoel TEdE XA 7,200 7,200 0
== 1,440
Al 5,760
307 glztol & 7,200 7,200 0
= 1,440
Al 5,760
W EE N EEEEEEES 7,200 7,200 0
SS0RO! R MSUE SMX LW
(SHIXAHH) 7,200
= 1,440
Al 5,760
SYMFEMI=X2 X2 807,700 776,981 30,719
307 212+01& 807,700 776,981 30,719
11 AMEISXAEEES 807,700 776,981 30,719
SSANRHMNASK2 ORIES(EL nA) 42,000
SEMREMASX2 TS XA 236,500
SEMRIAUSA2 SEE2SAE 84,200
SEAFZL=N2 THEIISAMS 445,000
o HEXZHE 2 191,080 0 191,080
[ 38,85
Al 152,224
307 glztol & 191,080 0 191,080
= 38,856
Al 152,224
10 Al SAAIEEHE 22X 191,080 0 191,080
kAl 144,000
= 28,800
Al 115,200




2A:

E M

X=]

: XFOHO|EX|/\|/\ _C,>_

A2 00l It
ool =X S&

[

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
=294l 36,000
& 7,200
Al 28,800
ZOHRIDIEXIRME SALR H<IN&HI 4,680
T 936
Al 3,744
ZOCDIEXJHEH SSEe! 22=S 6,400
= 1,920
Al 4,480
ZOHCIAFAIE JISEZ(XHA) 21,600 0 21,600
402 QI2E X201 ™ 21,600 21,600
01 QIZEXH2 A 2 2 (RERITH ) 21,600 21,600
SHEYE 22 DIs B 21,600
ORI A S THEAIL & T ) 9,472 0 9,472
& 2,841
Al 6,631
307 QIZt01 A 9,472 0 9,472
= 2,841
Al 6,631
11 AL SXAMEEER 9,472 0 9,472
04 FONQIRATHEAIL B2l T2 )2 9,472
& 2,841
Al 6,631
ZOCIHA DS 50,000 0 50,000
T 25,000
Al 25,000
402 QIZH X201 ™ 50,000 0 50,000
& 25,000
Al 25,000
02 QIZIXE2AMEEE(OIMTHS) 50,000 0 50,000
ZOHRIHH JIsE2 50,000
= 25,000
Al 25,000
SAMAIE 29 2,586,000 373,330 2,212,670
= 1,810,000
& 388,000
Al 383,000
[etsd 2e| 2,586,000 373,330 2,212,670
= 1,810,000
& 388,000
Al 388,000
DI H3SUHY ASALY 2,586,000 0 2,586,000
= 1,810,000




od
i’
oF
uJ

-

KIO

Hlw

2,586,000

2,586,000

55,150
55,150
55,150
40,150
30,150

10,000

12,000
12,000

3,000
3,000

HMEE
Ofl &k2h

Ofl &F2H

iy

388,000

388,000
2,586,000

m

1,810,000

Iy

388,000

388,000
2,586,000

2,586,000

O8]

1,810,000

Iy

388,000

388,000

55,150
55,150
55,150
40,150
30,150
30,150

10,000
10,000
12,000
12,000
12,000
3,000
3,000
3,000

- ESS

- SRA(3) - HIRAEY

S - B

401 AIZHIZ 20

01 Al

01 AFR2t2ltl

A2 2ke| |
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0K
[H0
[0

30
OH
H0
Mo

202 044l

01 2LHOIE
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Kl
K
oF
oD

Jl=3tl
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